1. Factor each difference of squares.

a) x2 - 100 b) 25hn2 — g1
Write 100 as 4 perfect square: Write 25h2 and 81 as perfect squares:
100 = 25h% = X or ( )
x* =100 81 =
= - 25h% — 81 = =
=
1. Factor each perfect square trinomial.
a) 7 - 18r+ 81 b) 2562 + 40p + 16
The 2nd term is , The 2nd term is ,
sO the factors of 81 are . sO the factors of are .
r? —18r + 81 25?2+40b+16
( )? ( )? ( ) ( )?
S0, 2 — 18r + 81 S50, 2562 + 40p + 16
= ( - X - ) =
= ( - ) = )
2, Factor each difference of squares.
a) x2 - 36 b) 9w? —
Write as a perfect square: Write and as perfect squares:
- = X , or( ¥
X — 36 = - =
= O9w? — 1 = -
-
3. Factor.
a) 1002 — 49 b) 64m? — 16m + 1

This is a . This is a
_
64m? — 16m + 1
—_ (___) (__)?
S0, 64m? — 16m + 1
—_— ____*m
= ( )2

100c? — 49 =
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